A, B port size

Thread piping

5 Port Air Operated Valve

Series SYA3000/5000/7000

How to Order

One-touch fitting (Inch size)

Symbol Port size |Applicable series| |Symbol Port size |Applicable series|
¥ i /40"

M5 M5 x 0.8 SYA3000 | | N3 |One-touch t!mng foru/az" SYA3000

01 1% SYA5000 | | N7 | One-touch fitting for o1/4

02 Ya SYA7000 | | N3 | One-touch fitting for 05/32"

One-touch fitting (Metric size)

N7 | One-touch fitiing for a1/4"| SYA5000

@mbu\

Port size

picavesere] N9 One-touch fiting for 0%/46"

(C4 |One-touch fitting for o4

C6 |One-touch fitting for 66

N9 | One-touch fitting for 65/46"

SYA3000| |N11|One-touch fitting for 63/6"

SYA7000

C4 |One-touch fitting for o4

C6 |One-touch fitting for 06

SYA5000

[of

8 |One-touch fitting for 08

[o}

8 |One-touch fitting for 08

IC10|One-touch fitting for 610|

SYA7000

Series
3 | SYA3000
5 | SYA5000
7 | SYA7000

SR LC I SYA
sva

2178

Series
3 | SYA3000
5 | SYA5000
7 | SYA7000

Type of actuation

2 position single
(A4 2(B)

=

-
(EA)5 1 3(EB)
(P)

2 position double
(A4 2(B)

N

iy 4
(EA)5 1 3(EB)
(P)

3 position closed center
(A4 2(B)

(2]

i\ .
(EA)5 1 3(EB)
(P)

3 position exhaust center
(A4 2(B)

IS

g Wy
(EA)5 1 3(EB)
(P)

3 position pressure center
(A4 2(B)

o

g Wy
(EA)5 1 3(EB)
(P)

—eThread type
Nil Rc
F G
N | NPT
T [ NPTF

* Except for M5

l P, R port

Bracket
Nil Without bracket
F1 With _foot ?racket
(2 position single only)
F2 With side bracket

thread type
Nil Rc
F G
N NPT
T [ NPTF
Port size
Symbol Port size \ Applicable series
Nil Without sub-plate
01 %? SYA3000
With sub-plate
Va
02 With sub-plate SYAS5000
Va
02 Y
With sub-plate SYA7000
03 3/§
With sub-plate




5 Port Air Operated Valve Series S YA 3000/5000/7000

Specifications
Fluid Air
Operating 2 position single 0.15t00.7
pressure range 2 position double —100 kPa t0 0.7
MPa 3 position —100 kPa to 0.7
Pilot pressure 2 position single (0.7 x P + 0.1) to 0.7 P: Operating pressure range
range Note ) 2 position double 0.1t00.7
MPa 3 position 0.2t00.7

Ambient and fluid temperature (°C)

—10 to 60 (No freezing.)

Manual override (Manual operation)

Non-locking push type

Lubrication Not required
Mounting orientation Unrestricted
Impact/Vibration resistance (m/s?) Note 2 150/30

Note 1) In case of single type, be certain that pressure within operating pressure range be supplied to supply port,
because return pressure is introduced from supply port {1(P)} for activation.

No malfunction resulted from the impact test using a drop impact tester. The test was

performed on the axis and right angle directions of the main valve and armature, when

pilot signal is ON and OFF. (Value in the initial state)

No malfunction occurred in one sweep test between 45 and 2000 Hz. Test was

performed to axis and right angle directions of the main valve and armature when pilot

signal is ON and OFF. (Value in the initial state)

Note 2) Impact resistance:

Vibration resistance:

A\ Caution

[ e e e e e e e e e e e e e

I Be sure to read before handling. Refer to front matter 53
: for Safety Instructions and pages 3 to 8 for 3/4/5 Port
1 Solenoid Valve Precautions.

How to Order Manifold Base

-
1
1
1
[

-l

Same manifolds as series SY (Non plug-in style) are prepared.
(For 20, 41, 42 and 45 Types)

ssstg-

3
Fill the same as SS5Y 3.

(Refer to pages 324, 376 and 422.)

« Specify the part numbers for valves and options together

beneath the manifold base part number.

<Example>

SS5YA5-42-03-02

« SYA5140
+ SYA5240

* SY5000-26-20A

1 set (Type 42, 3 station manifold base part no.)
1 set (Single air operated valve part no.)

1 set (Double air operated valve part no.)

1 set (Blanking plate assembly part no.)

“TThe asterisk denotes the symbol for assembly.
Prefix it to the part nos. of the solenoid valve, etc.
Note) When single body ported air operated valves are ordered, manifold mounting
screws and gaskets are not included. Order them separately if necessary.
(For details, refer to pages 353 and 416.)

O
3

Pilot Pressure Range

(Single pilot)

06 :
Pilot pressure
range
0.5 1 ¥
©
s
o 04
H
8 0a
=%
5
o 02
01 02 03 04 05 06
Operating pressure MPa
2179

=l l=ll=ll=ll=|l<=]|«
S| E|E|B|=|=|S

=

TA

=
D
=

VPA3

HH



series SYA3000/5000/7000

Flow Characteristics/Weight

Model/Series SYA3[120 (Body ported)

. . Flow characteristics X
Valve model ;‘(E;gn p;";’i‘ze e 1542 (P > AB) 4/2 5/3 (AIB — EAEB) w?.?m
P.EAEB| AB_|Cldm*/(sbar)] b Cv Cldm¥(s-bar)] b Cv 9
2 Single 4 4 35
posion| Docols 0.61 0.44 0.16 06 0.45 0.18 -
Closed center 0.48 0.46 0.13 047 0.43 0.13
SIESRZIEHS) | Exhaust M5x08| 47 0.42 0.13 0.47 [0.44] | 0.41[0.37] | 0.13[0.12]
Dosition_center 39
Pressure 0.50[0.41] | 0.48(0.35] | 0.15[0.11] 0.47 0.43 0.13
center
2 Single 4 4 44
posion| Docols 072 0.29 0.18 06 0.3 0.17 "
Closed center c4 059 028 0.15 059 0.30 0.15
SYA3[120-C4 am“tmmaamxm<wmw
3| enter itmioroy)| 063 0.35 0.16 0.42[0.41] | 0:84[037) | 0.11[0.11] | o
Pressure 0.76 [0.46] | 0.42(0.34] | 0.21[0.12] 0.59 0.29 0.15
center
2 Single 17 40
pociion| Docols 076 0.30 0.19 0.65 0.39 0. "
Closed center c6 076 055 0.24 0.60 0.33 0.16
SYA3[120-C6 Exhaust <One—|ouch >
3| enter fimioos)| 065 032 0.16 064[0.42] | 0.31(036] | 0.17[0.11] |
Pressure 0.77[0.49] | 0.34[0.43] | 0.21[0.15] 0.61 0.34 0.16
center
Note) [ ]: denotes normal position.
Model/Series SYA3140 (Base mounted)
) Flow characteristics Mot 1) e
o Mol
Valve model ;‘(E;gn o:";‘ze Port size 1542 (P > AB) 4/2 > 5/3 (A/B — EAEB) Weight "2
P Cldm¥/(sban)] b Cv__ |Cldm®/(sbar)] b [ @
2 Single 69 (34)
posiion  Douos 1.0 0.30 0.24 1.1 0.30 0.26 710)
Closed center 0.77 0.28 0.18 0.85 0.30 0.19
w 1,
SYA3L40-010| , |Exhaust | M5x0.8 s 073 0.31 0.18 1.1[0.55] | 0.26[0.52] | 0.24[0.16]
postion | _center 73 (38)
Pressure 1.2[0.51] | 0.24[0.45] | 0.29[0.14] 0.89 0.47 0.24
center

Note 1) [ ]
Note 2) ( ):

2180

denotes normal position.
Without sub-plate.




5 Port Air Operated Valve Series S YA 3000/5000/7000

Flow Characteristics/Weight

Model/Series SYA5[120 (Body ported)

§ N Flow characteristics 5
Valve model W=d e RS 1542 (P > AlB) 4/2 5 5/3 (A/B — EA/EB) Weight
actuation  |Pontsize 5TEA FR[ A B | Cldmisban)] b Cv C [dme(s-ban)] b Cv @
2 Single 58
ostion] Dounls 1.9 0.35 0.49 24 0.39 0.61 o
SYA5120-010)[ ;[ Closedcenter % 1.7 0.43 0.45 1.8 0.35 0.46
sstion E2haustcener 15 0.44 0.41 25[1.5] | 032[043] | 0590401 | 69 | |SYJA
P P I 22[0.91] | 0.46[0.58] | 0.61[0.28] 1.8 0.38 0.46
2 | Single 075 0.43 0.20 0.85 0.64 0.30 52
position| Double [eZ3 . i i i} | . 87 VZA
SYA50120-C4 |, [Closedcenter One-touch 0.74 0.40 0.19 0.84 0.57 0.28
osition [EXhaust center fitting for o4, 0.75 0.36 0.19 0.84[0.84] | 0.64[0.53] | 0.30[0.27] | 93 VFA
P P M5x08| % 0.780.71] | 0.44[0.37] | 0.21[0.18] 0.84 0.57 0.27
2 | Single ’ 76
position| Double c6 15 0.33 0.33 2.0 0.37 0.52 & VFRA
SYA5120-C6 | , |Closedcentr One-touch 1.3 0.31 0.33 1.6 0.32 0.39
osition EXiaust center fitting for a6} 1.3 0.33 0.33 1.8[1.4] | 0.35[0.37] | 0.44[0.35] | 87
P’ P I 1.710.80] | 0.31[0.47] | 0.42[0.23] 1.7 0.33 0.44 \PA4
2 Single 68
ostion] Douls cs 1.9 0.21 0.45 23 0.29 0.57 2
SYAS50020-C8 | , |Cosedcener One-touch ) 16 0.29 0.39 1.7 0.38 0.46 VSA4
postion| ELsLcenter itting for 08 1.4 0.38 0.39 2.0[1.5] | 0.37[0.40] | 052[0.43] | 79
Pressure cnler 22[1.6] | 0.32[0.44] | 0.56[0.44] 1.8 0.41 0.50 SYJA
Note) [ ]: denotes normal position.
Model/Series SYA5140 (Base mounted) VTA
0 Flow characteristics Nt ) L Noe2)
Valve model a-lgﬂ;ioo‘n ::"':i‘ze Port size 1542 (P > AlB) 42 5/3 (AIB — EAJEB) WL
P Clomisban] b Cv_| Clamisban] b oy © VGA
2 | Single 105 (42)
position| Double 24 041 064 28 029 066 110 (47) VPA
SYA50140-020[ , [Cossdcenter| M5 x 0.8 Ya 1.8 0.47 0.50 18 0.40 0.47
sstion| E2X0ausLcener 1.4 0.55 0.44 3.0[1.2] | 0.33[0.48] | 0.72[0.37] | 115 (52)
P P " 3.3[0.84] | 0.36[0.60] | 0.85[0.28] 1.8 0.40 0.48 \IPA3
Note 1) [ ]: denotes the normal position.
Note 2) ( ): denotes without sub-plate.
Model/Series SYA7(120 (Body ported)
B . Flow characteristics i
Valve model | 1¥PeOl | Pllot | Portsize 1542 (P > AlB) 4/2 = 5/3 (A/B — EA/EB) W(e";’h‘
P P.EAEB A. B | Cldm¥(sbar)] b Cv C [dm¥(s-bar) | b Cv g
2 Single 94
sstion] Dounls 4.1 0.23 0.93 33 0.33 0.81 105
SYA70120-0200 " Closed cnter Ya 29 0.31 0.70 2.4 0.38 0.63
osition | EX1eustcener 25 0.39 0.65 34[21] |0.35[0.38] | 0.82[0.54] | 110
P Pressure celer . 4.3[2.4] | 0.23[0.32] | 0.97[0.61] 2.2 0.39 0.58
2 | Single P port 32 0.26 077 32 0.37 0.82 100
position| Double Va c8 - : : : : : 106
SYA70120-C8 | , | Cosedcenter | M5x 0.8 One-touch 26 0.24 0.63 2.4 0.31 0.62
ostion | EX1eustcener €A £ o | Viting orod 2.4 0.25 0.57 2.6[1.9] | 0.42[0.46] | 0.70[0.56] | 116
P P i po 3.3[2.4] [ 0.28[0.22] | 0.78[0.57] 22 0.34 0.60
2 Single -8 97
osiion| Dovbls cio 3.8 0.26 0.86 32 0.34 0.82 103
SYA7020-C10 [ Closodcontr One-touch | 238 0.27 0.67 24 0.21 0.59
sstion| E2X0ausLcener ftting fo 010 2.5 0.25 0.59 2.7[2.0] | 0.38[0.38] | 0.70[0.56] | 113
P P " 3.8[2.4] | 0.25[0.31] | 0.89[0.61] 23 0.38 0.61
Note) [ ]: denotes normal position.
Model/Series SYA7[140 (Base mounted)
’ Flow characteristics N ) .
Valve model | 1¥Pe O Piot | Portsize 1542 (P > AB) 42 5/3 (A/B - EA/EB) Weight \ee?)
P C [dm¥(s-bar)] b Cv C [dm¥l(s-ban)] b Cv ©
2 Single 202 (73)
posiion| Double 41 0.41 1 41 029 1.0 210 (81)
SYA7040-0200[ [ Closed conter Ya 3.0 0.43 0.80 26 0.41 0.72
ssition E20ausLcener 26 0.42 0.71 47[1.7] | 0.35[0.48] | 1.1[0.49] | 218 (89)
P Pressure center M5 x 0.8 5.3[2.3] 0.39 [0.49] 1.3[0.65] 2.2 0.49 0.63
2 | Single - 202 (73)
position [ Double 49 029 12 45 027 " 210 (81)
SYA7040-03 |, [Cosedcenter % 3.0 0.40 0.80 26 0.45 0.73
ssition|20ausLcener 2.6 0.42 0.71 4.8[1.7] | 0.35[0.48] | 1.1[0.49] | 218 (89)
P Pressure certer 5.3[2.3] [ 0.31[0.51] [ 1.3[0.64] 23 0.45 0.66

Note 1) [ ]: denotes the normal position.
Note 2) (): denotes without sub-plate.

2181



series SYA3000/5000/7000

Dimensions/Series SYA3000: Body Ported

2 position single
SYA3120- 3 \3(-F2)

496 One-touch fitting
LT (A, Bpory)
M5 x 0.8 Applicable tubing O.: 04, 01/4"
(Pilot port) ] 06, 05/32"
(For manifold mounting)
(2x 3.2 for

W
(3.2

& "
88 o | Wi 3
E I
T
Manual override 225
(Non-locking)
@
&
(Ventilation hole) )

| ﬁh
10
15]

M5x0.8
(P, EA, EB port)

2 x @1.5 die-cast hole
(For manifold gasket positioning)

2182

o
3

Foot bracket
SYA3120- &3 \3-F1

Manual override
(Non-locking)

11.6

i

2x03.2
(For mounting)

3.5

P4l

H

B

521

SYA3120-M5

M5x0.8

(A, B port)

218

B =




5 Port Air Operated Valve Series S YA 3000/ 5000/7 000

Dimensions/Series SYA3000: Body Ported

2 position double

SYA3220- gg' Ng (-FZ) 54.2 One-touch fitting
’ (A, B port)
M5x 0.8 4 Applicable tubing O.0:: 04, 01/4"
(Pilot port) - == = 06, 05/32"
~ e
N || 0~
T
2x022
10.2 (For manifold mounting)

Manual override ”

2
=

ow
=<
C

=
N
=

=
=

=
-
==
=

VIPA4
Non-lockin L ' I | I l L
torees . i E US4
_Ig 5 i £ SYA3220-M5 EY m
1
M5 x 0.8
(A, B port) VZA
01.3 -
(Ventiation hole) . ° - - VTA
3 - i T I I
- = : t 1t
o : 1 AL
X o | | s ™
2 x #1.5 die-cast hole .
(For manifold gasket positioning) x0.8 T '! VPA
(P, EA, EB port) VPA3
3 posi:t;ion closed center / exhaust center / pressure center
C4, N:
SYA3320-G% N2 (-F2) 627
a7
. 50 One-touch fitting
z (A, B port)
M5 x 0.8 pplicable tubing 0. 04, 01/4"
(Pilot port) T E 06, 05/32"
o [ =
el P AR o)
10.2 2x022
2.4 (For manifold mounting)
i s =
I SARRRIN
Manual override H] AR E
(Non-locking) 4 L 1] i - o 3
] « b @ SYA3420-M5
ERENIEN N 5
T T M5 x 0.8
(A, B port)
013 =4 o, i,
(Ventilation hole) rmm I IS 1 —
_ -1 o T T T i' -
= = | @ @
el h i i €
2 x #1.5 die-cast hole t I
(For manifold gasket positioning) M5 x 0.8
(P, EA, EB port)
2183

O

SVC



series SYA3000/5000/7000

Dimensions/Series SYA3000: Base Mounted

2 position single
SYA3140-01C]

Manual override
(Non-locking)

135
- =

2x03.2

(For mounting)

-4 o~
M5 x 0.8
(Pilot port) 21 =
1
@ ]
g f} 3
& = / f"\\
o 11 | 1
- 1/8
Ventilation hole 205 Piping port)
14.5 13.25
2 position double
SYA3240-010 a
GRS
1
I}

35

2184

Ventilation hole

Manual override
(Non-locking)

2x@3.2
(For mounting)

22

M5 x 0.8
(Pilot port)

466

245
165

AR

2
S

11 11
205 1/8
(Piping port)



Dimensions/Series SYA3000: Base Mounted

5 Port Air Operated Valve Series S YA 3000/5000/7000

3 position closed center / exhaust center / pressure center

st3§ 40-0107

Manual override
(Non-locking)

M5 x 0.8
(Pilot port)

145 13.25

135

Yo

2x03.2

-

@8 | 8 ¢ i l
i s U | P u
| Y N

! Ea___tﬁrlvﬁ |

42 k:]

Ventilation hole

- - (P

O
3

1/8
iping port)

(For mounting)

2185

2
=

[}
=<
e
=

5|5
= >

=
-
=
=

Sli2s| s
N
=||E|E|E

=

TA

HHE
ERIE S



series SYA3000/5000/7000

Dimensions/Series SYA5000: Body Ported

2 position single

Foot bracket

C4, N3 C4, N3
SYA5120-ce, N7[1(-F2) SYA5120-Ce, N7[1-F1
C8, N9 C8, N9
T06
a7
631
M5 x 0.8 L @ 8
{Pilot port) i — ——
vl ﬁ( VY AN N ]
A4 ,qh dg
Mg M
e [ 47
- @ Ll -
One-touch fitting 36 2x032 ! t\:‘(
(A, B port i i
App\icabl(e tubin%oaD.: 04, 05/32" (For manifld mounfing) . 15
06, 05/16" Normal override - 2x 83.?
08, 01/4" (Non-locking) (For mounting)
25
(5 2x032
: (For mounting) L 1=
137) ~
@
1 = ===
b (] i } r
1) == __FLJ— . H__ ®
L—.@ 8 = = » [ ®
0 w g @ i g | _ ']
B - 1w al @
- g & @
. il
d I N
Manual override I S— -
(Non-locking) _J ¥
14.9) an4 105
01.8 27.2
(Ventilation hole) -
| -
N B AN AN O
St -l &
2 x 2.2 die-cast hole / B
(For manifold gasket positioning) 1/8
(P, EA, EB port)
SYA5120-010]
1/8
162 (A, B port)
1 | 1
. |
8 ] g ®
[l
T
323

2186

o
3




5 Port Air Operated Valve Series S YA 3000/ 5000/7 000

Dimensions/Series SYA5000: Body Ported

2 position gguNl%Ie
SYA5220-Ce; N7 [I(-F2)
€8, N9

SYA5220-01C1

o
3

76.6 8
M5 x 0.8 e wz /(A Bpor
(Pilot port) T @ | SYA
> i i 11
1 1 1
> o — L SYIA
us | 2x032 ' | g ® " VZA
(For manifold mounting) | | i
One-touch fittin 36 : VFA
- (A Boor) . s
EEEApphcame tubing O.D.: gé, g?ﬁZ VFRA
|'| 08, 05/16" Fgl | } ‘5]
”L| - ré-l ' VPA4
T I =
H S IE o ¢ VSh4
3 - i o @
7 N d° SYIA
Manual override VZA
(Non-locking) 1/8
018 7.2 (P, EA, EB port) VTA
(Ventilation hole) o =2
— . = VGA
N- [5A Ay Va -
v + VPA
2 x 92.2 die-cast hole =
(For manifold gasket positioning) VPA3
3 posigion gkoﬁgd center / exhaust center / pressure center SYA5§20-01 O
SYA520-Cg, N7 ((-F2) "
5 C8N9 89.2 162 (A, B port)
308 434
2xM5x0.8 g -
(Pilot port) |— T ? o -]
% KNG P ! —r —
AT o 3
145 2x032 f g
One-touch fttin a8 (For manifold mounting) '
Appﬁcab\(eAthEnzogj.D.: 04, 05/32" 383 J
06, 01/4" 2x032 @
08, 05/16" (For mounting) =
: = e
I [ ] 1 [2]
n ] 1
== R —
!? a g i i $
o hal Y. 3 wl e
&) 4 ' al®
57 i 0
Manual override a2
(Non-locking) 7.2
018 @ 3
(Ventilation hole) =
3 [fD AT "
RAS A I
2 x @2.2 die-casthole  / ' = 18
(For manifold gasket positioning) (P, EA, EB port)
2187



series SYA3000/5000/7000

Dimensions/Series SYA5000: Base Mounted

2 position single
SYA5140-02(]

47.5

15.5

Manual override
(Non-locking)

]
b g
— T
2x04.3 706
(For mounting) 3.1
. 48 83
I 1 i
-
© @ QH—F
o ?__ l L
| &
T bl
B @
M5 x 0.8 s a3
(Pilot port) ]
i |
|

Ventilation hole /

OO

[FE| 1/4

(Piping port)

2 position double
SYA5240-02]

15.5

Manual override
(Non-locking)

2188

K.Y=

i}
|
L g
= T —
6.6
2x04.3
(For mounting) 816
48
[Pl *
RN
h
21° AR
M5 x 0.8 B [
(Pilot port) w

Ventilation hole /

o
3

1
18 18 1/4
28 (Piping port)




5 Port Air Operated Valve Series S YA 3000/5000/7000

Dimensions/Series SYA5000: Base Mounted

3 posi:tsion closed center / exhaust center / pressure center
SYA5g40-02D

9.5

47.5

- T -
M 2x04.3 - 0.2 -
. (For mounting) - .
R —
- 3, NI - o) 2
| & Vi L
i | = @
M5 x 0.8
(Pilot port) se.8 15.4
Manual override
(Non-locking) 29

F e
Ll

S 1/4

56 (Piping port)
-

o
3

2189

2
=

[}
<
e
=

SE
= || >

=
-
=
=

SIEIEE
N
=||SE|E|E

=

TA

HHE
ERIE -



series SYA3000/5000/7000

Dimensions/Series SYA7000: Body Ported

2 position single Foot bracket
SYA7120-85,"%1101(-F2) SYA7120-88,N34 -F1
57
87.5
46
M5 x 0.8 77.5 F—’
(Pilot port) 17
===Tely caF===== hd
DS 7zNs \@% | M 1%, o ol 2
\ : = H el |1
One-touch fitting 19 ; 2x04.2 PR
(A, B port) 42 (For manifold Manual override 15 |7 2x04.2
Applicable tubing O.D.: 28, 85/16" mounting) (For mounting)
210, 23/8"
(66)
2x04.2 (52) o
(For mounting) v
- EEEE .30
Y [»j‘ NG B
B | | |
ge | B g
I 8 28 4 ©
& o N 1
el
Manual override 39.4 Hi,,, D 2
018 1/4 |
(Breathing hole) (P port) ) fl
(=}
& 1] ¥
‘ \ ‘ ad L i 22 (5.5) 476 125
b e/ P Keb | g
o /1= R i = EN
2 x 92.2 die-cast hole f 36 1/8
(For manifold gasket positioning) (EA, EB port)
SYA7120-0201(-F2)
1/4
(A, B port)
==~
<
0| ©
< ©
o
39.4

2190



5 Port Air Operated Valve Series S YA 3000/5000/7000

Dimensions/Series SYA7000: Body Ported

2 position double
SYA7220- &5\ C-(F2)

96.2

2xM5x0.8 76.2
(Pilot port) ©
ezz==oy by ty pz====a ]

Al hy T
One-touch fitting 19 \ 2x04.2

(A, B port) 42 (For manifold mounting)
Applicable tubing O.D.: 28, 25/16"
210, 23/8"
(66)
2x04.2 (52) ol
(For mounting) o
== ==
P

@ | ©
g g i 5

I g ©

@ <

EI g N

Manual override

2x01.8 1/4 o
(Breathing hole) (P port) ©

Y

[N ] S
‘ o ea N ¢ Ke [t g
===kt ==
2 x 2.2 die-cast hole 36 1/8

(For manifold gasket positioning) (EA, EB port)

3 position closed center / exhaust center / pressure center
c8, N9
SYA7g20-C10, N11-(F2)

109.7
48.1
2xM5x0.8 38.1
(Pilot port)
e====mp by L
5
N TSN,
[
One-touch fitting 19
[ELLAN
(A, B port) 22 (For manifold mounting)
Applicable tubing O.D.: @8, 85/16"
010, 03/8"
(66)
2x04.2 (52) o
(For mounting) 0
== ==
A
o 5 | o
g [ P g
I g e
@ <
i PR
t
Manual override'\
2x01.8 1/4 o
(Breathing hole) (P port) =
o
[N R [ [ s
‘ }%) EA P Hes| | [t g
S (5 2) S=pim-
2 x 2.2 die-cast hole 36 1/8
(For manifold gasket positioning) (EA, EB port)

SYA7220-0201-(F2)

30

20

1/4
(A, B port)

< || <2 KX
N || =<

=
=

PA4

NIEIEIEE
RIS ES =

S
=

24.5
40

SYA7§20-02D-(F2)

30

245
40

2191

=
D
=

==
o
=
S| =



series SYA3000/5000/7000

Dimensions/Series SYA7000: Base Mounted

2 position single
SYA7140-330

2 position double
SYA7240-30)

3/8, 1/4

0
(A, B port) sv_)
ARVan
NDAND
izg
|
57 775
42 61 10.4
[ M5 x 0.8 \,Lw
o (Pilot port) { - i e
Wiz N I — o ¢
I &
Manual override [ ‘ EA P EB
21 69 6.4
2x04.3
(For mounting) 87.5
52y B
LT
01.8 / K \ / \ b
(Ventilation hole) W/ N «
3/8, 1/4 20.5 | 205 ]
(P, EA, EB port) 33 ML
38, 1/4 21 225
(A, B port) o
ARVan
NDAND
izg
S5 i
57 714 5.1
42 61 4
 E— 2xM5x0.8 T ,L
- (Pilot port) { . v 8 &
i DA 4] s
I &l
Manual override [ i EA P EB
2 69 15.1
2x04.3
(For mounting) 962
2 (==
ReE}
T
2x018 / /dhY 71N\ b
(Ventilation hole) kj KJ «
308, 1/4 205 | 205 28
(P, EA, EB port) 23 T

2192




5 Port Air Operated Valve Series S YA 3000/5000/7000

Dimensions/Series SYA7000: Base Mounted

3 position closed center / exhaust center / pressure center

3/8, 1/4

13.5

LL()Ed ‘ g

Manual override

38
46

(A, B port)
AVa
PAN
123
2xM5x0.8
(Pilot port)
[
WITY
I
I I
2x04.3
(For mounting)
izg
2x018

26.5

\J

£

(Ventilation hole)

3/8, 1/4

(P, EA, EB port)

1.5
135

2193

SA4

=|ll==ll=l=]<]k
BlIB|M||N||
SHEHEH 2

HEHHEHBEE
Sl=|=2|=|=|s





